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Hi X 44 FR (A Hi1 XTI A i EIaESEss
AP LHET2 A LT A # 0.18 ha 6/ 47

=ZhiT—TH2 =TT B HN ¥ 0.08 ha 6/ 47
=T —TH3 ol —T H RN % 1.25 ha | —EB4E 6/ 47
=SHT—THb BT BN %1 0.29 ha | —4E 6/ 47
=ZaAT—T H6 BT BN % 0.07 ha 6/ 47
=R T HL EEET T H#N #0.12 ha 6/ 47
BT T H2 BELEAT T H#N #0.06 ha | —HBHEE | 6/ 47
=T T HA EEET T H#N #0.25 ha 6/ 47
=T T Hb =GR T HHN #0.05 ha 5/ 4T
=T T HT A LT HA #0.21 ha 6/ 47
=TT HS ERHT T H N % 0.06 ha 6/ 47
=R =T H1 BT =T BN % 0.08 ha 5/ 47
AT =T H2 BT =T BN % 0.09 ha 5/ 47
=T =T H3 EEIT =T BN # 0.06 ha 5/ 4T
=R T HL ERATIU T H H#N # 0.11 ha 2/ 47
JB 2 FHT2 B F BT HIN % 0.13 ha 4/ 47
EHT—T H2 EHT—T H HiN # 0.15 ha 3/ 47
HOHE " THI O H T H HpN ¥ 0.18 ha 1/ 47
MHOHE " TH2 O H T H HpN ¥ 0.05 ha 1/ 47
BT —T H1 RLFERT —T H HiN ¥ 0.33 ha | —HMEE | 5/ 47
BRI —T H2 FEFFHT—T H HupN #0.09 ha | —EB4EE | 5/ 47
BT —T H5 FEFFHT—T H HupN #0.31 ha 7/ AT
BT —T H6 JITEHT— T H HipN #0.07 ha 7/ AT
BRI —T B8 FEFFHT—T H HupN #0.21 ha 7/ AT
REFET T H L HHEFET T B HipN #0.07 ha 8/ 4T
rREFHT T H2 HHEFET T B HipN #0.21 ha 8/ 4T
rREFET T H 3 HHEFET T B HipN 1 0.23 ha 8/ 4T
HFEFET =T H1 HHEFET =T B HipN #0.14 ha | —EB4RE | 7/ 47
HEFET =T H2 HREFET =T H HN # 0.50 ha 8/ 4T
HHEFAT =T H 4 HHEFET =T B HipN #0.04 ha | —EBRE | 7/ 47
REPHTHR—T H1  |TREFRETIR—T HHN | & 0.13 ha 7/ AT
REFHTHR—T H2  |HREFETIR—T HHAN | & 0.14 ha 8/ 4T
REPHTIR—T H4  |TREFETIR—T HHIN | & 0.07 ha 8/ 4T
HREFHTHR—T H5  |FREFETIR—T HHPN | & 0.08 ha 8/ 4T




HU X A R (AR Hi X T FE ik X 1 2 5
HIRET T HL ERAET T H HN #0.05 ha 15/ 47
FHIET =T HI1 FRNET =T B #iN #0.10 ha 24/ 47
AT =T H2 FRAET =T B #iN # 0.16 ha 24/ 47
T =T H3 FRAET =T B #iN #0.05 ha 24/ 47
FRETIUT H1 FRRHTIU T H HN 1 0.09 ha 16/ 47
FRAETPY T H 2 FRRHTIU T H HiN # 0.16 ha 16/ 47
Pay NN ER FRRHTIU T H HN 1 0.23 ha 16/ 47
FRAETIU T Hb FRRHTIU T H HiN #0.05 ha 16/ 47
EIETH T HL FRAET AT B #N 1 0.25 ha 15/ 47
PN ISR FRAET AT B #N # 0.11 ha 15/ 47
FRNET T A5 FRNET T H HpN ¥ 0.80 ha | —¥HEE | 15/ 47
BT AT FRAETHLT B HN #0.23 ha 15/ 47
FIAETTT HS FRAETHT B HN # 0.08 ha 15/ 47
FRAETVE T H3 AR T HMIN | & 0.06 ha 15/ 47
FRAETVE T H4  [ARRETPE T HM#N | % 0.05 ha 15/ 47
FRAETPE =T H1  |FERETE =T HHAN | % 0.10 ha 15/ 47
HIETE =T H2  [ARETE =T H#N | % 0.35 ha | —#EE | 15/ 47
EHIHTHR—TH2 R —-THHN | K 0.08 ha 25/ 47
EHIHTR—T H4  |ERETEH—-THHN | K 0.06 ha 25/ 47
FHIHTHR—THS  |HRETH—THHN | % 0.14 ha 25/ 47
FHIHTR—TH6  |HRETH—-THHN | % 0.15 ha 25/ 47
EHIHTR—THT | —-THHN | & 0.37 ha 24/ 47
FHIHTHR—THS  |HRETEH—THHN | % 0.33 ha 25/ 47
EHIHTHR—TH9  |HRETEH—-THHPN | % 0.08 ha 25/ 47
FHIRHETHR—T H10 [ERETR—-THH#AN | & 0.17 ha 24/ 47
FHIMETHR T H3  [ERETER T HM#N | & 0.15 ha 25/ 47

1 /KET 1 1E/KHET HIN # 0.06 ha 23/ 47

Bl KT N %1 0.18 ha 13/ 47
AEFnET— T H 1 BN —T H N #0.29 ha 13/ 47
HEAHT T H 1 REFOET — T H HiIN # 0.11 ha 14/ 47
WEFNET T H2 BEFRNET T H N #0.08 ha | —HMEE | 14/ 47
HEFNHT T HS REFOET — T H HIN #0.25 ha 14/ 47

FFHT—T H3 FFHT— T H HIpN # 0.14 ha 22/ 47

FHT T HI1 FEHT T H HN #0.05 ha 22/ 47

FFHT T H2 FFHT T H HIN #0.05 ha 22/ 47

FFHT T H3 FEHT T H HN #0.05 ha 22/ 47

FHETPUT H1 FEETPY T H HN # 0.06 ha 21/ 47

FHHETU T H2 FEETPY T H HN # 0.06 ha 21/ 47




Hi X 44 FR (A Hi1 XTI A EIaESEss
FHETUT H6 FEETPY T H HN #0.20 ha 30/ 47
FFHTIU T H 8 FFHTIU T H HipN # 0.08 ha 30/ 47
(EE D! B 2L FRT RN %1 0.14 ha 21/ 47

F 2 T HHiN #10.38 ha 31/ 47
F 3 FHH— T HHiN #10.43 ha 31/ 47
FH 4 HH—T B AN # 0.24 ha 31/ 47
FH 5 HH—T BN #0.09 ha 31/ 47
6 HH—T BN # 0.35 ha 31/ 47
FHH8 FHENT BHHN #0.40 ha 30/ 47
11 B FFE T HEN %1 0.28 ha 29/ 47
13 FHEFT BN # 1.20 ha 30/ 47
15 M T BN #0.23 ha 29/ 47
16 xR —T HHIN %1 0.05 ha 29/ 47
L7 M T BN # 0.18 ha 38/ 47
19 FHE=THH#AN # 0.08 ha 38/ 47
F 20 FHE=THH#AN #0.07 ha 38/ 47
H 22 FHE T AN #0.09 ha 30/ 47
H 25 FHE T BN # 0.08 ha 31/ 47
H 26 FHE T BN #0.17 ha 31/ 47
FH 27 HH—T BN #0.21 ha 31/ 47
F 28 FHE T AN # 0.85 ha 31/ 47
F 29 FHE T BN #0.30 ha 39/ 47
F 30 FHE T AN # 0.26 ha 39/ 47
31 FHE=THH#AN # 0.06 ha 39/ 47
F 33 FHE T BN #0.40 ha 31/ 47
H 34 ST BN # 0.28 ha 30/ 47
37 FHE=THH#AN #0.13 ha 39/ 47
FH 39 FHE=THH#AN # 0.06 ha 39/ 47
F 40 ST BN #0.05 ha 30/ 47
FH 41 HH—T BN % 0.23 ha 31/ 47
H 42 ST BHHN # 0.10 ha 30/ 47
H 43 FHE=THH#AN # 0.18 ha 38/ 47
FH 44 HH—T BN # 0.18 ha 31/ 47
a3 BE T BN #10.23 ha 37/ 47
FE! BrE T BN ) 0.05 ha 37/ 47

T il =T HHN #0.09 ha 27/ 47

I3 il =T HHN #0.12 ha 27/ 47

14 il =T HHN #0.05 ha 27/ 47




Hi X 44 FR (A Hi1 XTI A i Mm% 5
16 il =T HHN ¥ 0.62 ha | —¥#BHEE | 36/ 47
7 il =T HHN # 0.28 ha 36/ 47
I8 il =T HHN # 0.06 ha 36/ 47
I T9 il =T HHN #0.17 ha 36/ 47
il 110 Hl—T HHAN #10.06 ha 36/ 47
Hl T 11 il —T HHIN # 0.06 ha 36/ 47
il 113 Hil—T HHIN # 0.06 ha 36/ 47
pagtinigt B T HIN # 0.11 ha 37/ 47
2 B T HIN # 0.16 ha 37/ 47
L3 BFE T HHAN %1 0.06 ha 37/ 47
TR —T H2 HEFZE—T H HAN 1 0.18 ha 10/ 47
THFE—TH3 HEFE—T HHA #0.94 ha | —HB¥EE | 10/ 47
HHFZE T HL FEFZ T HH#IN #10.35 ha | —¥fEE | 9/ 47
TFZE T HA4 FEFZ T HH#IN #10.04 ha | —¥fEE | 9/ 47
THFZE T Hb FEFZ T HH#IN #10.28 ha | —¥fEE | 9/ 47
HHFZE T AT FEFZ T HH#IN #10.21 ha | —¥fEE | 9/ 47
iy R—T HH#IAN ¥ 0.73 ha | —HEMEE | 9/ 47
2 R—T HH#IAN #0.07 ha 9/ 47
I3 R—T HH#IAN # 0.08 ha 9/ 47
iyt MR =T HHIAN #0.39 ha 9/ 47
N5 MR =T HHIN # 0.06 ha 9/ 47
K7 MR =T HHIN #0.22 ha 9/ 47
s MR =T HHIN # 0.08 ha 9/ 47
K15 MR—T HH#IAN #0.21 ha 17/ 47
Eihiial ik — T HHA # 0.54 ha 38/ 47
ks iR — T B HN #0.24 ha | —HHEE | 38/ 47
ko AL T B #N #0.21 ha 45/ 47
9 ks — T HHIA #10.13 ha 45/ 47
Ptk 10 ks — T HHA ¥ 0.53 ha | —¥HEE | 45/ 47
P11 ks — T HHA #10.25 ha 44/ 47
12 ik — T B HiN #10.06 ha 44/ 47
%13 AR =T B HN %1 0.11 ha 44/ 47
Hifsk14 FhfkrE — T H HuN ) 0.05 ha | —HB¥EE | 44/ 47
Ptk 16 HfkrE— T HHIA ¥ 2.68 ha | —HHEE | 44/ 47
19 REFZEE N %1 0.07 ha 43/ 47
k20 PfkE — T H HUN ¥ 0.11 ha 44/ 47
Hik21 PfkE — T H HUN ¥ 0.05 ha 44/ 47
k22 FRAkEE T B #N %1 0.06 ha 44/ 47




H X 44 B ATy i X i A i [ i 5
k23 PRfkE — T H HUN %1 0.14 ha 46/ 47
k25 PfkE — T H HUN %1 0.08 ha 46/ 47
k26 gk T B RN ) 0.24 ha | —HB¥EE | 46/ 47
HE1 JE— T HH#iN ¥ 0.15 ha 42/ 47
B2 JE— T HHiN ¥ 0.31 ha 42/ 47
JHHE3 JE— T HHiN ) 0.38 ha | —HB¥EE | 42/ 47
B4 JE— T HHiN ) 0.06 ha 42/ 47
JHED JE— T HHiN #)0.17 ha | —HB¥EE | 42/ 47
JHE6 HE— T HHiN #)0.22 ha | —HB¥EE | 42/ 47
BT JE— T HH#iN ) 0.13 ha | —HB¥EE | 42/ 47
JHE8 JE— T HHiN ¥ 0.09 ha 42/ 47
JAH89 A T HHN # 0.16 ha 42/ 47
ZHHE 10 JUE T HHiN ¥ 0.09 ha 41/ 47
HE11 JUE T HHiN ) 0.05 ha 41/ 47
JHE 12 JUE T HHiN ) 0.05 ha 41/ 47
JHE 13 JUE T HHiN %) 0.08 ha 41/ 47
JHE 15 JUE T HHiN ¥ 0.18 ha 41/ 47
JHHE 18 A T BN ¥ 0.12 ha 41/ 47
ZHHE 19 A T BN ¥ 0.05 ha 41/ 47
A 20 A T BN ¥ 0.11 ha 40/ 47
51 KT 7 HIN #0.10 ha 47/ 47
%52 KT 7 HN ¥ 0.25 ha | —¥EBFEE | 47/ 47
VAT BT H2  |PEARFFITE T HHIN | &) 0.26  ha 32/ 47
PEAREFIT VT B |PEAREFITNT HHIN | & 0.22  ha 32/ 47
VEARFFEITNT H2  |PEARFFRT VT BN | & 0.10 ha | —&8fRE | 32/ 47

JITA T L JI A BT PN # 0.37 ha 23/ 47
(L HEET—T H2 (U HEET—TEHAN | 4 0.05 ha 33/ 47
IWHFEET T EHL (U HEET T H#AN | 8 0.13 ha 33/ 47
(WP EET T H3 (U HEET T HH#AN | A 0.19 ha 33/ 47
IR EET T B4 [[UHEET T HH#AN | A 0.10 ha 33/ 47
IR EET T H6 (U HEET T HH#N | K 0.32 ha 33/ 47
FAIRFERT—THL  |BRMERT— T HH#IN | & 0.83 ha 34/ 47
FARPERT T HL  |BRFEET T HHPN | £ 0.05 ha 34/ 47
PRI =THL BRI =THEHAN | 9 0.28 ha | —HEE | 34/ 47
AERPERT—THL  |AERFPERT—THH#IN | & 0.08 ha 26/ 47
AERPERT—T H2  |ALRFEET—THH#IAN | & 0.19 ha 26/ 47
JERFEIT =T HL |[HERHERT T EHHN | 9 0.69 ha | —HEE | 26/ 47
JEREERT T H2 |AEREEET THH#IN | & 0.15 ha 26/ 47
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Hi X 44 FR AL 1 X T A i Mm% 5
AERPEIT=THL |[ALRFERT=TEH#N | & 0.66 ha | —&fE 26/ 47
AT HI midE T HHA # 0.10 ha 19/ 47
mEdE T H2 midE T BN # 0.31 ha 19/ 47
BT H3 midE T BN #0.25 ha 19/ 47
BT HS midE T BN ¥ 0.20 ha | —¥#BFEE | 19/ 47
BT H6 midE T BN #0.09 ha 19/ 47

EdBE=THI midE =T HH#IN #0.07 ha 27/ 47

EABE=TH?2 ELHE =T BN # 0.15 ha 27/ 47
BB =THS ELE =T BN #0.23 ha 27/ 47
SFHE T H1 s T H N %1 0.07 ha 36/ 47
A T H2 FE T H N %1 0.05 ha 36/ 47
FE =T HI LA =T BN # 0.10 ha 35/ 47
FEIRE =THI FERE =T BN ¥ 0.59 ha 18/ 47
FEIRE =T H?2 FERE =T BN ¥ 0.12 ha 18/ 47
FEIRE =THS3 FERE =T BN ) 0.06 ha 18/ 47
HERESTHL FEIRG ST HHpN ) 0.08 ha | —HB¥EE | 12/ 47
FERBANTH2 FEIRE ST H H#N %1 0.05 ha 12/ 47
FERBANTH3 RGN T B HiN %1 0.05 ha 12/ 47
FEIRBNT Hb FEIRE ST B H#N %1 0.06 ha 11/ 47
FERBANTHG6 FEIRENT B HiN %1 0.13 ha 11/ 47
FERBANTHT FEIREB ST B H#N %1 0.14 ha 12/ 47
FEIRBNTHS RGN T B HiN %1 0.06 ha 12/ 47
FEREANTHI9 FEIRE ST H H#N %1 0.05 ha 12/ 47
FERELETHL FEIRGET HHpN ¥ 0.07 ha 11/ 47
HERE LT H2 FEIREET H N ¥ 0.29 ha 11/ 47
HERE LT H4 FEIREET HHN ¥ 0.39 ha 11/ 47
NMer—THS NMeB—T BHIN #0.39 ha 20/ 47
Mer T HI NMeH T BHHIN # 0.06 ha 20/ 47
her T H2 NMeHm T BHHIN # 0.08 ha 20/ 47
ErlB=THI [ExLUE=THH#HN | H 0.08 ha 28/ 47
ErllB=TH2 [ExLUE=THH#HN | K 0.09 ha 37/ 47
Hre LM TH2 |[Hx el THEH#MA | & 0.05 ha 37/ 47
HalUBUTHS  |HEexlbEMTEMAN | 0 0.03 ha | —HEE | 37/ 47
EalUBETTHL [HExILBEHETHHA | 8 0.60 ha | —HfEE | 28/ 47

11




